E 0 & AFHE®E B M A

N 2}EEFHA
Y ANEER
chelr ANEER CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EE=E=HE 8,303,081 10,228,607 A 1,925,526
=2 892, 140
Xl 10,000
J| 283,576
< 1,632,868
Al 5,484,497
NEBEE 616,300 711,760 295,460
NEES 616,300 711,760 295,460
NEEES 616,300 711,760 A 95,460
201 et 584,800 661,460 AT6,660
01 At 22l 555,000 638, 260 A 83,260
OB =+=EH| 507,500
o SAEX ¢ 4,560,000 4,560
MNEEE 7Y 3,500,000& 3,500
o MMTHI(ZEIH, SMI S) 228 2¢
2,963,000 2,963
o Eclgd&E A2F ¢ 1,047,000 1,047
o AltA MEFA=SZ  130,430F «12F #2704 & 42,260
o MEta XIBHAAX 22t
5,500,000& x12& 66,000
o MZta XNIBHAAX SEMA & 25
=4 700,000& 123 8,400
o ZBMAIE W Z 650,000 *253| 16,250
ONF OiZER #HHBD
1,000,000& #2894 2«10 280,000
o XNHOIE #HRD
2,000,000& #2012 =103 40,000
o D HMAIDl M= 10,000& 500 % 5,000
o AME & 2F 24 = HA
6,000,000& 14! 6,000
o Al8AA SEESAMAAY A5
22,000,000& » 14! 22,000
o XMEBAIY MEE(AIHOIAH)
460,000& x12& 5,520
o LEDEZH S=2 4 MA 4,000,000 4,000
o=t 16,600
o MEt=a XNEMAA Y EETE &HY
7,000 «3H*202 <123 5,040
o ANEEE HRFA 4,000,000& 4,000
o MEIIAL A28 &Y
7,000 «3&*202 <123 5,040
oANEEE 4= 2 L MH
7,000 «3&x102 «12& 2,520
[ DN = 900




N = 0l & At & Ml A

N 2}EEFHA
Y ANEER
el AEES (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o )| XNE(MRY, B2lEE)
37,5002 20 2+ 123 900
OBt~ 30,000
o AXX0OIE #EZ 30,000,000& 30,000
02 =224l 29,800 23,200 6,600
O=322LHA 14,200
03323 4,000,000& 4,000
O MDI2 NHHAAL 228 SETY
5,000,000& 5,000
o LEDAIEEE &% IS 4,000,000& 4,000
OLEDABESR WEW SHOIBE
1,200,000& 1,200
OANEZEISXHI (AR, Fa, MZD)
7,600,000& 7,600
OXNSHEE (EE2RE) 8,000,000 8,000
202 4l 7,500 17,300 A9,800
01 = LH YI 7,500 17,300 A 9,800
ONEEE Z2FA 7,500,000 7,500
203 YR =&l 6,000 6,000 0
03 AIMZ=XH R =AY 6,000 6,000 0
ONEESE Z2FA 6,000,000& 6,000
206 M= Hl 11,000 11,000 0
01 M2 4l 11,000 11,000 0
OZsE HiO2 HOE 2 6,000
o YSEIE 50,000& 604 3,000
o daltg B2=2 6,000& 5004 3,000
OUSTE T ALRITH 125,000 *40% 5,000
301 L2 A= 7,000 12,000 A5,000
11IIEEA S 7,000 12,000 A5,000
OS2UAL 24 ,000,000& 5,000
OMBSRNELAANMT IR Ol E&
1,000,000 1,000
OXAX ANBIEN 245 E A8 452 7Y
100,000& =102 1,000
Falls 88 & 2y |4 2,480,255 2,476,158 4,097
= 7,840
J| 271,810
< 87,645
Al 2,112,960
Fl=8E 1,521,512 1,601,944 A 80,432
= 7,840
J| 271,810
< 87,645
Al 1,154,217
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25 SHEEFHA
Hu: 230z A2 Y 24 =4
Sel: 2SN E CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
09 HAIAHIBEAZ 27,400 27,400 0
O23 AN 2R AH B A 5,000,000 5,000
O&E2E AIAH 1,200,000& 1,200
OSJ] AlIH 1,200,000& 1,200
Ot = AlA 3,000,000& 3,000
OSHES s 8245 XA 17,000,000 17,000
307 QI2t01 ™ 407,217 410,200 AN 2,983
02 Q2B AMAIEE =X 312,680 326,600 AN 13,920
O23d AIgHl A& 31,500, 000& 31,500
OUWLDE 9AF 2SN =g 2,340,000 2,340
O MR35 (M28S )2t 6,120,000& 6,120
OXNESHd s& SZ12J] U3 2,880,000& 2,880
O23st(st2) 29 A 6,000,000 6,000
O2ZH SA SN = 3,000,000& 3,000
OZAHES s 43t 3,000,000 3,000
O2ZH ALHUAIS &2t 9,000,000& 9,000
OH 163 Z2A235HA 5,000,000 5,000
020168 XZH 2350 =X 4,050,000& 4,050
OgR! 220t &0t 3,870,000 3,870
OAQIA ERna 29 2,340,000& 2,340
OH183 d=2s=s2FAUF 24 ,300,000& 24,300
OH108 2 HMAl <2 EX 6,120,000& 6,120
OXNEALASH AlSHA 4,050,000& 4,050
O2ZHE8 H22s g2t 6,120,000 6,120
O2ZNEE 4643 ZsHA 9,720,000& 9,720
OX463 2 H D=3 N 3,420,000 3,420
OH9oE otstie 2 HMA 6,480,000& 6,480
©02016¢ &= =2M 0iznsd 6,750,000 6,750
OH173 d= H30l=UA 12,740,000& 12,740
O2ZM0l=8€3 Di=2% 3,870,000& 3,870
OH33 otel& 8= IJIAH 8,100,000& 8,100
OH28 sS4 HOEZAME(AH=cHAHE)
3,000,000& 3,000
OH143 IIEANE S 8,460,000& 8,460
OH463 M2 SSHHE S243 2,430,000& 2,430
OKBS =250ty T2 )2 50,000, 000& 50,000
O Z2EAE F2H A 1,170,000& 1,170
02016 & A XA 15,000,000& 15,000
OSNRE MESFFAMY(IIZH) 7,290,000 7,290
OE=2 s A2 2AIY
16,200,000 16,200
©DAF11116 &H0F =2 XMIOFE H O 10,350,000& 10,350




25 SHEEFHA
Yy 250z 32 L 2549 R4
¢ 2o=dE (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OH183 ZH NEBEA 2AAAUY 3
8,100,000& 8,100
OZHAIRE AIEXE FEAHIG 2dH LA
6,840,000 6,840
OHM223 A= Y14 AIZZEU3 3,150,000 3,150
OSEHRE 2H=sS2 2AISE 3,870,000& 3,870
O&SE AZs2FAUs I N
4,050,000& 4,050
O2UH Mg &Alg 2,000,000& 2,000
03 AU EESIHE=X 89,317 72,400 16,917
O2ZHME &9 40,000,000 40,000
O23d 29| 27,717,000 27,717
O233 AMP=F o1AHY| 21,600,000 21,600
04 SIZ2HSHAAISHE E & 5,220 11,200 A5,980
OUAEEC2II(HEUHEE )AL 5,220,000& 5,220
Ol RS SIIFAIYE(EX) 20,000 20,000 0
& 10,000
Al 10,000
307 2iz2to| & 20,000 20,000 0
< 10,000
Al 10,000
02 QIZIA AAIE E X 20,000 20,000 0
OO0t 23t I 20,000,000 20,000
o= 10,000
Al 10,000
ES230I2H XNFANH(EX) 371,111 375,452 A4 341
J| 271,810
=} 29,790
Al 69,511
307 QI2t0| ™ 371,111 375,452 A4 341
J| 271,810
= 29,790
Al 69,511
02 QI2tAAMAIE E X 371,111 375,452 N4, 341
OSE230I28A NIAAYE 371,111,000 371,111
J| 271,810
= 29,790
Al 69,511
MESEs =53 N (EX) 102,600 102,600 0
= 38,280
Al 64,320
307 2Iz2to| A 102,600 102,600 0
= 38,280
Al 64,320
02 QI AAIE E X 102,600 102,600 0




25 SHEEFHA
Hu: 230z A2 Y 24 =4
Sel: 2SN E CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
05353 2sX& 102,600, 000& 102,600
& 38,280
Al 64,320
SHEXNESAEHIIAMY (BEX) 12,600 18,000 AN5,400
= 7,840
& 1,575
Al 3,185
101 @121l 12,600 18,000 A5,400
= 7,840
& 1,575
Al 3,185
04 JIZtHIZ22NSES 12,600 18,000 A5,400
O23=K 820" 24X 12,600,000& 12,600
= 7,840
= 1,575
Al 3,185
A2d52 29 494 224 491,072 3,152
101 @ 21| 167,542 132,772 34,770
04 JIZtHI2E2XNEE > 167,542 132,772 34,770
OXNZAAUDO 22IEXRI(BY, = - 0F2H) 167,542
oJlz2 42,2103 x5 »264 55,718
o0 =% ¢ 428 E S 111,823, 710& 111,824
201 et A bl 271,982 282,900 A 10,918
01 At 22l bl 258,782 266, 100 ANT7,318
Ot +=gH| 253,732
XNESAUDOE 2E 6,000,000& 6,000
o EHOX KA 84 228,000& 12& 2,736
o LRHAAH(CIHIIA) 220,000& «12& 2,640
o &3 HIZA B2 2,700& x78,000&H 210,600
o g3 £&dII3 1503 78,000 11,700
o ¥ iU =2 1,000,000& ~12& 12,000
o JtEMNE 42 7,000,000& 7,000
o0 2o 2492 88,000& x12& 1,056
o294 700
o ANEHLAUDO 2SI &
70,000& x5H x23] 700
[ DRTIR==3]l 1,350
o NNEHAAIUHDOH 22 150,000 *3H *33| 1,350
[ DE=2=d] 3,000
o NIZB&AIUO 29 3,000,000 3,000
02 332494l 13,200 16,800 A 3,600
OZ2Z222YLHA 1,000, 000& 1,000
OAl& & H KXYl 12,200




N 2}EEFHA
Hu: 230s N2 L 2344 S
¢ 2o=dE CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o GAD HEXH 1,800,000& »23| 22 7,200
o A MAIUICH |2l 5,000,000& 5,000
202 O4dl 2,800 3,000 A 200
01 = LH 4 Hi 2,800 3,000 A 200
OXZLAUOH 2208 29 & dRF2A
2,800,000 2,800
206 M= Hl 51,900 72,400 A 20,500
01 =8l 51,900 72,400 220,500
OXZLAUCH HE2E ME 7¢
650 +78,000H 50,700
OXBEAUID 2HFE 2
100,000 1200 & 1,200
2gsta FOoAUO AZ(EX) 20,000 20,000 0
= 8,000
Al 12,000
307 21201 A 20,000 20,000 0
< 8,000
Al 12,000
02 B AAFEX 20,000 20,000 0
OxX2dgsta FoAUOE A2 20,000,000& 20,000
< 8,000
Al 12,000
Zstosz 2 24 958,743 874,214 84,529
=ol=z 2 29 716,603 624,864 91,739
101 @124 dl 45,297 52,148 26,851
04 JIZHHZ2Z2XNESE S+ 45,297 52,148 A6,851
O3 M =32 dREXLRA &L HAHHRA 35,649
oJdlZ=a 48,2403 x2H 247 23,831
oY ¥ AHEE= S 11,817,560 11,818
O3 F oA =20 9,648
oJdlE=a 48,2403 x5 403 9,648
201 Yute S| 196,706 193,376 3,330
01 At 2t 2l 25,000 27,120 A2,120
OBt~ 17,565
oIt =28 ¥ =& 300,000& *2CH+33] 1,800
o MA&FH ARE Y 1,234,000 1,234
oAMNRES ¥ 200,000& 122 2,400
o ¥AES 2 HIS 7 250,000& =128 3,000
ozd2X 7= 10,0003 »4&5+12& 480
o HAHIXE 22X 7=
10,0003 »45+12& 480




2N 2sE2EH
Hu: 250s A2 L 2HAY 84
oo 2z 29 CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
oNFE 293 Bx o 2ZBN
918,0002 *23! 1,836
0 RoIAH B 2,651,0002 2,651
0o B4I ABE 38,0002 2CH * 122 912
0BT S WATY 55009 7S 604122 2,772
OE I 900
0 X%, 8%, JNéUN ALDS
300,000 32 13| 900
on =yl 2,400
0 BUTY QA(RUTY AH)
200,000 *6% *23] 2,400
DERE 3,135
0 012 22X 34 2,135,0002 2,135
0 ERY S2X 34 1,000,000%! 1,000
ogxz 1,000
o RHI2IE BARY 1,000,0002 1,000
zz=9y 139,706 116,256 23,450
OZZRILHA 108,106, 00021 108,106
OUAHY ALY 242
500,000% * 122 6,000
02250z Bes B3l
4,000,0002 *13] 4,000
OS2 2 NESAST JAaNY &
& 1,600,0002 1,600
ONEZHI Rl 20,000,002 20,000
A2 b 32,000 50,000 18,000
0z 222 S W 20,000, 0002 20,000
02 28 ZIFY YX 12,000,000%! 12,000
202 01t 4,700 3,780 920
ENTT 4,700 3,780 920
ONECRREEESS 2,700,000% 2,700
0320 24T TOAY =7 ol
1,000,0002 1,000
0230 s ZRIY S 23
1,000,0002 1,000
WEL] 28,900 25,560 3,340
01 M2 bl 28,900 25,560 3,340
OSE2H A42E L JIE 2,500, 0002 2,500
03T YALSAE 29 1,000,000%! 1,000
OZYHI 2 VWY N0 115)
6,000,0002 6,000
ORHEY HETY 4,000, 0002 4,000
OY2E 2S%E 7Y 40,0008 *25% 1,000
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25 SHEEFHA
Hu: 230z A2 Y 24 =4
@2 S0 29 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
o HRH 800,000 x 1 x12& 9,600
o & 300,000 37 x12& 133,200
O2HE4AZ2 35,000& x40 »203] 28,000
ONWMNEE It 3,200,000& 3,200
[ DRi=R=2NN] 6,500,000 6,500
O8IAF3 20,000, 000& 20,000
OSt= M= 200,000& *45H 9,000
OAZXY &L J=2 AHEED AdS3 |
600,000 600
ONEEERS 2HY| 3,000,000& 3,000
[ pRE=N.] 100,000& *10= 1,000
Z2aeg M= U XNEASH 4 2,989,784 2,853,820 135,964
N 10,000
Dl 11,766
< 1,039,571
Al 1,928,447
P P s PN 1,348,864 1,219,510 129,354
Xl 10,000
Dl 11,766
= 1,039,571
Al 287,527
2P MAN=S 108,800 106,110 2,690
101 2121 d| 32,000 32,000 0
04 JIZtHI2E2XNSE 32,000 32,000 0
02A=20 9 2 2O 2HH4UHEES
2 EAZ e 32,000
oJdle2 50,0003 x2H #2226 22,600
o428 E S 9,399,743& 9,400
201 LEr2 Y| 40,300 40,610 A310
01 AP 2t2l bl 32,300 32,610 A 310
OBt 2| 26,500
o && HAFFX 5,000,000& 5,000
o ZEOHUWXNIE HE 2,000& =4 ,000H 8,000
o AAUESE M M 2,500 *2,000 5,000
o AEEE ME HE 4,000& x1,250H4 5,000
0 2Ot AMNREE 1,000, 000& 1,000
LEAIREC ANRES 1,000, 000& 1,000
o AU HAZE L HIS 500,000 500
o OtSCtE 2& ZHALR AMIF HE
100, 000& *109H £ 1,000
O=2g+< 910
o HZANEEOF ML 70,000& «13Y 910
==l 4,890
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2N
X ZH -
L= B

el

R M

CET e PN
ZaY AE Y NBAEH |4
AT E

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

Al 7,000

401 Al HI YL 2 0HHI 14,000 26,000 A 12,000
Xl 7,000
Al 7,000

01 A& HI 14,000 26,000 A 12,000
O PEXE EXN(EX) 14,000,000& 14,000
Xl 7,000
Al 7,000

Ch=20 2ZUWXE HE(EX) 6,000 3,000 3,000
Xl 3,000
Al 3,000

201 Bt A H| 6,000 3,000 3,000
Xl 3,000
Al 3,000

01 AR 22l ] 6,000 3,000 3,000
O2Bt=2H| 6,000
o MUK E M= 6,000,000 6,000
Xl 3,000
Al 3,000

OISCHE a2 FHIAY(2E) 46,000 0 46,000
< 18,400
Al 27,600

401 Al HI L £ 0HHI 46,000 0 46,000
= 18,400
Al 27,600

01 A& HI 46,000 0 46,000
OO0IS0E =dlZ JHIAY 46,000, 000& 46,000
= 18,400
Al 27,600

HIM HE22X SHAIY 1,070,000 0 1,070,000
= 1,000,000
Al 70,000

201 LEr2 Y| 160,000 0 160,000
= 90,000
Al 70,000

03 A2 EH| 160,000 0 160,000
OMd&EEZEZ)Y 29 90,000, 000& 90,000
== 90,000
O22X 2483 8P H 70,000,000 70,000

206 M = Hl 20,000 0 20,000
== 20,000

01 X2 Hl 20,000 0 20,000
oOMd&dZz )8 & 20,000, 000& 20,000
= 20,000

401 Al HI L 2 0HHI 890,000 0 890,000




2N
X ZH -
L= B

el

= T E PN
Y AE Y NBLAEH sS4
2BMATE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 890,000
01 A& HI 884,393 0 884,393
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